


Usage Guide:

1.KM Series Hydraulic Motor is a low speed high torque motor with high
power ratio per unit volume.

2. Avoid using the motor at both maximum speed and maximum pressure.

3. Motors can be used in series or parallel. When the back pressure exceeds
5MPa, it is recommended to connect the leakage port.

4. Optimum operating range of the motor :1/3～2/3 cont. operating condition

5. Make sure the motor is filled with hydraulic oil before running.

6. Maximum operating oil temperature : 80℃.

7. The recommended oil : Antiwear hydraulic oil with viscosity of 37~73cst,
Oil cleanliness ISO18/13.



KM5 Series

Design features：

• Advanced disc flow structure design, low speed performance is good.

• Height of volumetric efficiency and automatic compensation for wear.

• Joint shaft special design, long service life of the motor.

• Double row cone rolling pin shaft is capable of bearing big radial force,
which is used in heavy load driving occasions.

displacem
ent（ml/r）

80 100 125 160 200 250 280 305 400 500

flow
（LPM）

cont. 75 75 75 75 75 75 75 75 75 75

int. 85 95 95 115 115 115 115 115 130 130

speed
（RPM）

cont. 850 675 552 430 345 276 246 226 183 144

int. 956 855 700 660 529 423 378 347 308 246

pressure
（MPA）

cont. 17.5 17.5 17.5 17.5 17.5 17.5 17.5 15 15 12

int. 28 28 28 25 25 25 25 21 17 15

torque
（N*M）

cont. 178 223 278 356 445 557 592 580 715 720

int. 286 356 445 509 636 755 779 763 840 860

output 
power
（KW）

cont. 16 18.8 19.5 15.6 15.6 14 14 14 11 9

int. 20 23.5 23 21 18 17 17 17 13 11

1

Introductions :

1. Maximum intermittent value: The maximum that the motor can operate continuously

2. Intermittent value: The maximum that allows the motor to last 6 seconds in a minute.

3. Avoid operating under the conditions of maximum speed and maximum pressure simultaneously.

4. Optimal operating range of the motor: 1/3 ~ 2/3 continuous operating conditions.



torque225 Nm  
speed 852 rpm

2

pressure pressure

pressurepressure

pressure pressure



3

pressure pressure

pressure pressure

The data in the table are tested under the condition of 68# antiwear hydraulic oil and 50℃ oil temperature. 
The results of different motors are slightly different.



4

Type A 
standard

Type B 
Connect the 
reversing 
valve type

Type C 
Wheel type



5



6

Shaft diameter:φ30 ×48
rectangular spline:6-30×26 ×8
shaft end thread:M8

Shaft J Shaft K

Shaft G Shaft H Shaft I

Shaft D Shaft E
Shaft F

Shaft A Shaft B Shaft C

Shaft diameter:φ30 ×44
rectangular spline:6-30×26 ×6
shaft end thread:M8

Shaft diameter:φ31.75
woodruff key :φ25.4×7.96
conicity:1:8

Shaft diameter:φ31.75
flat key :7.96×7.96 ×32
conicity:1:8

Shaft diameter:φ31.75 ×48
British involute spline :14 teeth DP12/24
shaft end thread:3/8-16UNC

Shaft diameter:φ25 ×43
rectangular spline:6-25.3×21 ×6.25
shaft end thread:5/16-18UNC

Straight Shaft:φ25 ×43
woodruff key : φ25 × 6.35
shaft end thread:1/4-20UNC

Straight Shaft:φ2.4 ×43
Flat  key : 6.35×6.35 ×32
shaft end thread:M8

Straight Shaft:φ32 ×56
Flat  key : 10×45
shaft end thread:M8

Straight Shaft:φ31.75 ×46
Flat  key : 7.97×7.9 × 32
shaft end thread:3/8-16UNC

Straight Shaft:φ25 ×38
Flat  key : 8×7 × 28
shaft end thread:M8



7

Oil port A Oil port B Oil port C

Oil port D Oil port E Oil port F

Oil port G
Oil port H

Oil port B

Oil port A



 pos 1 2 3 4 5 6 7 8

configuratio
n

displacem
ent 

(ml/r)

flange & front edge 
(mm)

 shaft & key (mm)
rear 

housing
oil port

oil port 
surface 
thread 

drain port

A
standa
rd

A 80 A

rhombus flange, 
2-φ13.5center
distance 106.4,
front edge
φ82.5X6.4

A

cylinder 
axis:φ32X56, 
flat key:10X8X45 ,  
shaft end thread:M8

A

refer 
to 
graph
ic

A
2-
M22X1.5

A no A no

B

Connec
t the 
revers
ing 
valve

B 100 B

square flange 
109X109, 4-φ13.5 
reference 
circleφ106.4 ,fro
nt edge φ82.5X6.4

B

cylinder axis: 
φ31.75X46, flat 
key:7.963X7.963X32 ,
shaft end 
thread:3/8-16UNC

B

refer 
to 
graph
ic

B 2-G1/2 B 2-M10 B
M14X1.

5

C
wheel 
motor C 125 C

6 holes rhombus 
flange,6-φ13.5 
reference 
circleφ106.4 ,fro
nt edge φ82.5X6.4

C

cylinder 
axis:φ25X38,   
flat key:8X7X28,  
shaft end thread: M8

C

refer 
to 
graph
ic

C
2-1/2-
14NPTF

C
2-
3/8-
16UNC

C G1/4

D 160 D

4 holes rhombus 
flange,4-φ13.5 
reference 
circleφ106.4 ,fro
nt edge φ82.5X6.4

D

cylinder axis: 
φ25.4X43,flat 
key:6.35X6.35X32 ,  
shaft end thread:M8 D

refer 
to 
graph
ic

D
2-7/8-
14UNF
SAE

D 3-M10 D
7/16-
20UNF

E 200 E

Wheel square 
flange 132X132 , 
4-φ13.5 reference
circleφ147.6,
front edge
φ82.5X12.7

E

cylinder 
axis:φ25.4X44, 
woodruff 
key:φ25.4X6.35, 
shaft end thread: 
1/4-20UNC

E

refer 
to 
graph
ic

E 2-φ12 E
3-
3/8-
16UNC

E M10X1

F 250 F

4 holes rhombus 
flange, 4-φ13.5 
reference 
circleφ106.4  ,fr
ont edge 
φ82.55X2.8, with 
seal groove

F

rectangle 
spline:φ25.3X43,   
6D-25.3X21.5X6.25 , 
shaft end 
thread:5/16-18UNC

F

refer 
to 
graph
ic

F
2-1-
1/16-
12UN

F

G 280 G

square flange 
120X120, 4-φ13 
reference 
circleφ127 , 
front edge 
φ100X7.5

G

conical 
shaft:φ31.75, 
woodruff 
key:φ25.4X7.963 ,  
shaft end thread:1-
20UNEF,   
conicity 1:8

G

oil 
port 
run 
from 
oppos
ite 
direc
tions

G
2-Φ14

G

H 305 H

Wheel square 
flange 132X132 , 
4-φ13.5 reference
circle φ147.6,
front edge
φ107.9X6.4

H

conical 
shaft:φ31.75 ,shaft 
end thread:1-
20UNEF ,flat key:  
7.96X7.96X32  ,conic
ity 1:8

H

refer 
to 
graph
ic

I 400　 J

 rhombus flange, 
2-φ11 reference
circleφ109  ,fron
t edge φ80X6.4

I

involute spline: 
φ31.75X48, 
14teeth,DP12/24 , 
shaft end 
thread:3/8-16UNC

J 　500 K

rhombus flange, 2-
φ11reference 
circleφ109 , 
front edge 
φ70X6.4

J

rectangle 
spline:φ30X44 , 
6-30X26X6 ,
shaft end thread:M8

L

6 holes rhombus 
flange, 6-φ13.5 
reference 
circleφ106.4  ,fr
ont edge 
φ82.55X2.8, with 
seal groove

K

rectangle 
spline:φ30X48  , 
6-30X26X8 ,
shaft end thread:M8

8



product features displacement/serial number 

flange output shaft oil port 80 100 125 160 200 250 305 400 500 280

Big square 
flange120X120
front edge 

Φ100

Φ30shaft,flat 
key8

shaft end 
threadM8

gasket-
mounting

4-M10

150-
0081

-
0082

-
0083

-
0084

-
0085

-
0086

-
0087

-
0088

-
0089

-
0080

Big square 
flange120X120
front edge 

Φ100

Shaft 6D-30X26X8
shaft end 
threadM8

gasket-
mounting

4-M10

150-
1021

-
1022

-
1023

-
1024

-
1025

-
1026

-
1027

-
1028

-
1029

-
1020

rhombus flange,
front edge 
Φ82.55

Φ25shaft,flat 
key8

shaft end 
threadM8

M22X1.5drain 
port

M14X1.5

151-
0021

-
0022

-
0023

-
0024

-
0025

-
0026

-
0027

-
0028

-
0029

-
0020

small square 
flange 109X109

front edge 
Φ82.55

Φ32shaft,flat 
key10

shaft end 
threadM8

M22X1.5drain 
port

M14X1.5

151-
0041

-
0042

-
0043

-
0044

-
0045

-
0046

-
0047

-
0048

-
0049

-
0040

4 holes 
rhombus flange, 

with seal 
groove，短
front edge 
Φ82.55

Φ31.75X46shaft, 
flat key7.963

shaftend3/8-16UNC

7/8-14UNFdrain 
port7/16-20UNF

151-
0051

-
0052

-
0053

-
0054

-
0055

-
0056

-
0057

-
0058

-
0059

-
0050

small square 
flange109X109
front edge 
φ82.55

Φ31.75X46shaft
flat key7.963

shaftend3/8-16UNC

7/8-14UNF
drain port
7/16-20UNF

151-
0061

-
0062

-
0063

-
0064

-
0065

-
0066

-
0067

-
0068

-
0069

-
0060

rhombus flange，
front edge 
φ82.55

φ25shaft，flat 
key8

shaft end thread 
M8

G1/2”
drain portG1/4”

151-
0081

-
0082

-
0083

-
0084

-
0085

-
0086

-
0087

-
0088

-
0089

-
0080

small square 
flange109X109
front edge 
Φ82.55

Φ30shaft,flat 
key8

shaft end 
threadM8

M22X1.5,
drain 

portM14X1.5

151-
0091

-
0092

-
0093

-
0094

-
0095

-
0096

-
0097

-
0098

-
0099

-
0090

small square 
flange 109X109

front edge 
Φ82.55

Φ32shaft,flat 
key10

shaft end 
threadM8

ZG1/2
ZG1/4

151-
0151

-
0152

-
0153

-
0154

-
0155

-
0156

-
0157

-
0158

-
0159

-
0150

rhombus flange,
front edge 
Φ82.55

Φ25.4shaft,flat 
key6.35

shaft end 
threadM8

G1/2
drain portG1/4

151-
0161

-
0162

-
0126

-
0164

-
0165

-
0166

-
0167

-
0168

-
0169

-
0160

small square 
flange109X109
front edge 
Φ82.55

Φ32shaft,flat 
key10

shaft end 
threadM8

G1/2",2-M10
drain port

G1/4"

151-
0391

-
0392

-
0396

-
0394

-
0395

-
0396

-
0397

-
0398

-
0399

-
0390

small square 
flange109X109
front edge 
Φ82.55

Φ32shaft,flat 
key10

shaft end 
threadM8

G1/2",
drain 

portG1/4"

151-
0411

-
0412

-
0413

-
0414

-
0415

-
0416

-
0417

-
0418

-
0419

-
0410

small square 
flange109X109
front edge 

Φ80

Φ25shaft,flat 
key8

shaft end 
threadM8

M18X1.5,2-M10
drain port

G1/4"

151-
0431

-
0432

-
0433

-
0434

-
0435

-
0436

-
0437

-
0438

-
0439

-
0430

9

: 15* – 1021

 series code Specification number

150 big square flange，to reversing valve oil port surface

151 rhombus flange、small square flange standard thread oil port

152 big square flange，standard thread oil port

153 no bearing，standard thread oil port



rhombus flange,
front edge 
Φ82.55

Φ25shaft,flat 
key8
shaft end 
threadM8

oil portΦ12
3-M10上阀
泄M14X1.5

151-
0591

-
0592

-
0593

-
0594

-
0595

-
0596

-
0597

-
0598

-
0599

-
0590

rhombus flange,
front edge 
Φ82.55

Φ31.75shaft, 
open flat 
key7.96

shaft end 
thread3/8

7/8-14UNF
（countersink）

drain 
port7/16-

20UNF

151-
0701

-
0702

-
0703

-
0704

-
0705

-
0706

-
0707

-
0708

-
0709

-
0700

rhombus flange,
front edge 
Φ82.55

Φ25.4shaft,woodr
uff 
key25.4X6.35shaft 
end thread1/4-
20UNC

7/8-14UNF
drain 
port7/16-20UN

151-
0721

-
0722

-
0723

-
0724

-
0725

-
0726

-
0727

-
0728

-
0729

-
0720

4 holes 
rhombus flange,
front edge 
Φ82.55

Φ32shaft,flat 
key10
shaft end 
threadM8

2-G1/2",
drain port

G1/4"

151-
0731

-
0732

-
0733

-
0734

-
0735

-
0736

-
0737

-
0738

-
0739

-
0730

4 holes 
rhombus flange,
front edge 
Φ82.55

Φ31.75shaft,fla
t key7.96
shaft end 
threadM8

2-G1/2",
drain port

G1/4"

151-
0741

-
0742

-
0743

-
0744

-
0745

-
0746

-
0747

-
0748

-
0749

-
0740

rhombus flange,
front edge 
Φ82.55

shaft6D-30X26X6
shaft end 
threadM8

M22X1.5
drain port
M14X1.5

151-
1031

-
1032

-
1033

-
1034

-
1035

-
1036

-
1037

-
1038

-
1039

-
1030

rhombus flange,
front edge 
Φ82.55

shaft6D-30X26X6
shaft end 
threadM8
spindle nose 
length58.5

M22X1.5
drain port
M14X1.5

151-
1041

-
1042

-
1043

-
1044

-
1045

-
1046

-
1047

-
1048

-
1049

-
1040

4 holes 
rhombus flange,
front edge 
Φ82.55

6D-25.3X21X6.2
shaft end thread
：5/16-18UNC

PT1/2”
drain port
PT1/4”

151-
1051

-
1052

-
1053

-
1054

-
1055

-
1056

-
1057

-
1058

-
1059

-
1050

square 
flange109X109
front edge 
φ80

6D-30X26X6
shaft end 
threadM8

M22X1.5
drain port
M14X1.5

151-
1101

-
1102

-
1103

-
1104

-
1105

-
1106

-
1107

-
1108

-
1109

-
1100

small square 
flange109X109
front edge 
Φ82.55

14teeth，
DP=12/24
shaft end thread
：no 
Shaf extension：
50

2-G1/2",
drain port

G1/4"

151-
2061

-
2062

-
2063

-
2064

-
2065

-
2066

-
2067

-
2068

-
2069

-
2060

Big square 
flange120X120
front edge 
φ100

φ32shaft，flat 
key10
shaft end 
threadM8

M20X1.5
drain port
M14X1.5

152-
0061

-
0062

-
0063

-
0064

-
0065

-
0066

-
0067

-
0068

-
0069

-
0060

Big square 
flange120X120
front edge 
Φ100

Φ30shaft,flat 
key8
shaft end 
threadM8

M22X1.5 152-
0081

-
0082

-
0083

-
0084

-
0085

-
0086

-
0087

-
0088

-
0089

-
0080

Big square 
flange120X120
front edge 
Φ100

Φ32shaft,flat 
key10
shaft end 
threadM8

M22X1.5
drain port
M14X1.5

152-
0091

-
0092

-
0093

-
0094

-
0095

-
0096

-
0097

-
0098

-
0099

-
0090

Big square 
flange120X120
front edge 
Φ100

shaft6D-30X26X8
shaft end 
threadM8

M22X1.5drain 
port

M14X1.5

152-
1001

-
1002

-
1003

-
1004

-
1005

-
1006

-
1007

-
1008

-
1009

-
1000

Big square 
flange120X120
front edge 
Φ100

shaft6 D-30X26X6
shaft end 
threadM8

M22X1.5
drain 
portM14X1.5

152-
1031

-
1032

-
1033

-
1034

-
1035

-
1036

-
1037

-
1038

-
1039

-
1030

Big square 
flange119×119
front edge 
Φ101.5

nooutput shaft M22X1.5drain 
port

M14X1.5

153-
3001

-
3002

-
3003

-
3004

-
3005

-
3006

-
3007

-
3008

-
3009

-
3000

roundflange4-
Φ11
front edge 
Φ100

nooutput shaft oil port2-G1/2 
drain port 
G1/4
2-M10

153-
3011

-
3012

-
3013

-
3014

-
3015

-
3016

-
3017

-
3018

-
3019

-
3010

10



KM5S Series

Design features：

• Advanced flow plate design at low speed.

• Provides better performance.

• The valve automatically compensates for wear, volume efficiency height.

11



12



 pos 1 2 3 4 5 6 7 8

configur
ation

displace
ment
(ml/r)

Flange & front
edge  (mm)

spline shaft 
connecting format

rear 
housing

oil port

oil port 
surface 
external 
connect 
thread 

drain 
port

A

refer 
to 
graphi
c

The 
same 
to 
BM5

A

square flange 
119X119, 4-
φ13.5 
reference 
circleφ127 ,f
ront edge 
φ101.5X6.4

A
refer to 
graphic

A

refe
r to 
grap
hic

A
2-
M22X1.5

A no A no

B

refer 
to 
graphi
c

B

Round flange4-
φ11 
reference 
circleφ125 
front edge 
φ100 X6 

B
refer to 
graphic

B

refe
r to 
grap
hic

B 2-G1/2 B 2-M10 B
M14X
1.5

C

refe
r to 
grap
hic

C 2-φ12 C
2-3/8-
16UNC

C G1/4

D

7/16
-
20UN
F

13




